PART C : LOGICAL REASONING

1.

Sheela told Reena: “The girl | met yesterday at the hospital was the youngest daughter of
the brother-in-law of my friend’s brother.” How is the gitl related to Sheela’s friend?

{A) Friend (B) Cousin (C) Daughter (D) Niece
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A man brought some watermelons to town and sold them. He sold 1/2 more than 1/2 of
what he brought and he was left with one melon. How many melons did he bring to town?

(A) 1 (B) 2 A3 D)4
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Find the odd one out

(A) RST (B) FGH (C) VXY (D) DEF
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4. When you reverse the digits of age of father you will get the age of son. One year ago the
age of father was twice that of son's age. What are the current ages of father and son ?

{A) 73 and 37 (B) 24 and 42 (C) 31 and 13 (D) 45 and 54
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5. In the four boxes on the left you can see that there is a box that is blank. Work cut which
of the four boxes on the right contains the missing shape or object so that there is a

sequence.
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Answers :
Part A :Physics 1) 2 3@ 4B 5@ 6@ 7 8(A)
9(B) 10(C)
Chemistry 1.(B) 2.(B) 3.(A) 4.(B) 5D 6.(A) 7.(A) 8 (A)
9.(C) 10.(A)
Part B :Mathematics 1.{B) 2.(C) 3.(A) 4.(B) 5.(B) 6.(B) 7.(C) 8.(D)
9.(A) 10.D)
Biology 1.(A) 2.(0 3.(B) 4.(B) 5 (C 6.(D) 7.0 8. (D)
9.(C) 10.(A)

Part C : Logical Reasoning 1.(D) 2.{D) 3.(C) 4.(A) b5.(D)



